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I ’'® mMwn: minimal pan’o for mammals, birds
a  If: he slaughters one jmv of a bird, or both of a mammal - valid
1 Note: implication of Tay»7a relates either to 1 jno for birds or to 217 (next clause); there is no more than 2 to cut!
ii ~ And: a majority of a 10 is considered like the (full) >0
iii 77 "1 he must also cut the veins
b If: he cut half a 1> of a bird, or 1.5 of a mammal — invalid
¢ If: he cuts a majority of one of a bird or a majority of two of a mammal - valid
I Source for nvo'nw from the neck
a  n275 7 v.1-vnwis an acronym for ynvn — n® (where he bows — nw — cleanse him- 1non)
i And:ynonis supported by v. 2 or v. 3
ii  Challenge: perhaps the reference is the tail (which is bent) —i.e. cut there, then kill him
1 Answer: nw implies that it is usually “up” and then bends; the tail is always “down”
iii ~Challenge: perhaps it refers to the ear?
1 Answer: we require w211 07 to be spilt
2 Challenge: perhaps he cuts at the ear and then across until he gets to wain o7
3 Furthermore: how does this give us the five nonw »»108 (Mp*y ;NN ,nTON ,no"T ,NNY)?
(a) Rather: they are an oral tradition; so too, slaughtering from the neck is an oral tradition
(b) If so: what is the impact of the word vnw (according to X33 ’7’s acronym)?
(i) Answer: not to totally cut him (decapitate) — ynon implies to clean out
b 997z v.4-nnanis an acronym for yonn — ar - i.e. from the place where it “flows”, break it
i support: nnn means break —v. 5
ii ~ Challenge: perhaps it refers to the nose (which flows — ar doesn’t only mean blood)
1 Answer: it must “flow” by “breaking”; the nose flows on its own
iii ~Challenge: perhaps it refers to the heart
1 Furthermore: how does this give us the five no'nw *50a (Mpy ,Ann ,nToN ,NOMT ,NPNY)?
(a) Rather: they are an oral tradition; so too, slaughtering from the neck is an oral tradition
(b) If so: what is the impact of the word nnan (according to n» *1’s acronym)?
(i) Answer: not to totally cut him (decapitate) — ynnn implies to “only” break him — no further
¢ 71277 read YNV as YNO- VN from the place it speaks
i Challenge: perhaps it means to cut his tongue?
1 Answer: we require w211 07 to be spilt
2 Challenge: perhaps he cuts at the tongue and then across until he gets to wain o1
3 Furthermore: how does this give us the five nornw »»108 (Mp*y ;NN ,NTON ,nO"T ,N7NY)?
(a) Rather: they are an oral tradition; so too, slaughtering from the neck is an oral tradition
(b) If so: what is the impact of the word vnw1 (according to "121n’s substitution+acronym)?
(i) Answer: not to totally cut him (decapitate) — ynon implies to clean out
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d  »7n71(in 817773): v. 6 already directs 'nm), why explicate WX (and 179)
i Answer: v. 7 may imply that only flayed organs are placed on nam; head, which is cut off, may not be included
ii ~ Therefore: v. 8 states W1 and 778 and then directs to place on fire
1 Observation: by singling out head “which was cut off”, we see that nvonw is from neck
2 Question: why did the Rin cite X1 from v. 6, then conclude with wX1 from v. 8
(a) Answer: v. 6 is needed for our rule, then he asked why it is again explicated in v. 8
(i) And:answered that it is there to show precedence — head (with 779 around no'nwn n»1) is put up first
(if) Note: 979 in v. 6 teaches that it is wrapped around nvnwn n’3, out of dignity for nam
e A1z v.9 -nnnais utterly distinct from g (vis-a-vis n%2) nkmv); only equal in NV’NY — from the neck
i Just as: nnna removes stigma of nN%»11 via NVNY, so too, birds lose stigma of nYa) via no'NY
1 However: we don’t require 07w 211 for birds, per nkt — limiting it to nnna
ii 4”7 just as 9y has its 7N from the neck, so too nnna
1 However: unlike bird, nnna is not from the back, per v. 10 — 127y (of this, and not nnna)
2 And: nrt needed for X" to exclude Tnx 11 as sufficient for nnna
iii ~ Alternative take on v9 (87197 73): birds were placed between mammals and fish
1 Teaching: that they only require 1 1n°0 (not 2 like nnna, but not 0 like woT)
2 Question: how do we know that fish require no nvo’nw (= no 01N’o)
(a) Suggestion: v. 11 — 181 9pa are "onw»”, but fish are "or’”
(b) Challenge: v. 12 uses qoR to describe preparation of quail
(i) Defense: if used in context of no'nW (v. 11); Na'OR negates slaughter; alone (v. 12), indicates nothing
3 Tangent: nv17 of Galilean about creation of birds (vv. 13-14) from marsh; not water nor land - 1 jn’0 needed
(a) Note: in interaction with Roman challenger, this was the answer given by 1”2, but privately, he told his
students that v. 13 is key; v. 14 just indicates that 'n brought them to nTx for names (or reverse)
I Discussion — whether obligation to perform nvnw on birds is n”nn or v”Mn
a 37 there is no obligation from nmn to slaughter birds
i Source: v. 15— in context of n1n "3 (for birds and nvn) — uses verb Jav1 for spilling blood — any spilling is valid
1 Challenge: if so, nn also requires N30 alone
2 Block: nvn are compared (v. 16) to n”“mva, which require nv'nv per nwp
(a) Challenge: birds are also compared to nnna (v. 9)
(b) Answer: v. 15 indicates n2°aw alone, and since )y is mentioned last (closest to 7a) it applies to g1y
ii  Challenge: 22 P, — if he stabs, does My or errs and makes a n%2) — no "3 needed
1 But if: qw nomw is not needed n”nn, should require no2
2 Answer: this mwn is taught in re: 'n, not a1y
iii ~Challenge: ruling — if he needs the blood (2 doesn’t want to perform nv3), stab or otherwise kill it
1 Assumption: needs bird’s blood for medicinal purposes
2 Rejection: needs 'n’s blood for dyeing
iv  Challenge: n:v mnar — if he did np>on with a knife, it generates 1910 91y n21 (= 1Y*Han Nar D 1M1 RNVN)
1 And: if there is no no'nw for a bird n"nn, even though it is a N9 (broke the spinal cord), the knife should be
able to remove the stigma of ny1)
2 Answer: this mwn follows 721, contra 99pn R, interpreting v. 16:
(a) Comparison: of R 72% to n”"moa — teaches that just as n”Moa require NY’NY, so too NN require NVNY
(i) However: only mammals require n"nn nv'nw, not birds
(b) 227 v.4 alludes to a command regarding no'nw given to nwn
(i) Which includes: the esophagus and the trachea
1. And: 7R an for birds (!) as well as 01w a1 for nnna
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